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Answer either in English or in Assamese.
1. Answer the following questions : 1x8=8
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(a) State the law of demand.
vifEn RiEG a7e w1

‘(b} What is a market ?
e e

{¢) What is market supply ? \
@R @A e
(d) What is inflation ?
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What are the components of aggregate
demand ?
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In the consumption function what is

total consumption when income is
zero ?
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Give an example of progressive taxation
in the context of India.
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Define fiscal deficit in a budget.
3MceoT [ =B Aceat

Answer any six of the following questions.

2x6=12
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What is meant by economic efficiency ?
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Define Marginal Rate of Transfo
R rmatlon
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Why is a firm said to be a ‘price taker’
in perfect competition ?
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Explain briefly the concept of
consumers’ surplus with a suitable
example.
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Give Hicks’ definition of income.
231 IR W@ e I )
What constitute the domestic territory

of a country?
QA mmwma—%%m'ﬂ?

What is the condition for equilibrium
in an economy?
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Interpret Y = C + I in the ex-ante sense.
Y=C+IT AefifFosi G 4 |

When is a tax said to be buoyant?
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() Differentiate between a direct tax and
an indirect tax.

ATF ] I ARTF 1 o Fe

3. Answer any four of the following questions :
5x4=20

ﬁ‘iﬁﬁ@mﬁzwm'wﬁmwms

(@ Point out the distinction between shifts
in the demand curve and movements
along a demand curve.
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" (b} What is meant by cross price elasticity
of demand ? What will be the sign of

- the elasticity in cases when the two
goods are of substitutes and when they

gre compliments ? 3+2=5
bR % v Rfegysrre) o= &
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(c) Bring out the maiin points of distinction

between a perfectly competitive market
and monopoly.
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(d)

(e)

(g)

(h)

How is the market demand curve
derived from the individual demand
curve ? Explain ‘diagrammatically.
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Define unemployment. How is the

unemployment rate calculated ? ,
" 2+3=5
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What is a Multiplier ? Illustrate its

operation using an illustrative example.
2+3=5
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What is ‘tax’ ? Mention a few important

features of taxation. 1+4=5
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Explain regressive taxation with the
help of a diagram. State two merits of
regressive taxation., 3+2=5
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4. Answer any two of the following questions :

10x2=20

Fxfeis el e g5/ Bex Tl ¢

(@) Explain the idea of dppc)rtunity cost.

(b)

()

(@)

Define and draw Production Possibility
Curve (PPC)? What do points outside
and points inside the PPC signify ?
3+3+4=10
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Explain how equilibrium is determined
in a competitive market ? Under what
conditions will the equilibrium be
stable ? 7+3=10
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Describe the circular flow of Income in
an economy. '

Q3 FLFIOS STT JEIT 2RI 301 31 |

Distinguish between the current
account and the capital account of the

~ balance of payment. Describe the

components of the current account.
4+6=10
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(e)
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Describe the structure of a budget. How
is the revenue account different from
that of the capital account? 6+4=10
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